FNLIE

BT 13 DR L

PLD&E#EREE
e RADREMRS  Rmax.16 umBlRICHEE

D B RADFANE © h8/H8
m & = firye3 HE kHxRY @Y B8
dx D Li L | Ls B Py LPE| s | A 8| a2 Nm Kg
Nm KN | N/mm2 | N/mm?

20x 47 | 17 | 22 | 28 | 34 350 | 36 | 283 | 120 | 5 |[M6x20| 14 0.28
22 x 47 | 17 | 22 | 28 | 34 380| 36 | 257 | 120 | 5 |[M6x20| 14 0.27
24 x 50 | 17 | 22 | 28 | 34 420 36 | 236 | 113 | 5 |M6x20| 14 0.31
25x 50 | 17 | 22 | 28 | 34 520 | 43 | 271 136 | 6 |[M6x20| 14 0.30
28 x 55 17 22 28 34 580 43 242 123 6 | M6 x 20 14 0.36
30x 55 | 17 | 22 | 28 | 34 620 | 43 | 226 | 123 | 6 |[M6x20| 14 0.35
32x 60 | 17 | 22 | 28 | 34 890 | 58 | 283 | 151 [ 8 |M6x20| 14 0.42
35x 60 | 17 | 22 | 28 | 34 970 | 58 | 258 | 151 | 8 [M6x20| 14 0.39
38x 65 | 17 | 22 | 28 | 34 | 1060| 58 | 238 | 139 | 8 |[M6x20| 14 0.45
40x 65 | 17 | 22 | 28 | 34 | 1110| 58 | 226 | 139 | 8 [M8x25| 14 0.44
42 x 75 | 20 | 25 | 33 | 41 | 1960 | 97 | 307 | 172 | 7 |[M8x25| 35 0.44
45x 75 | 20 | 25 | 33 | 41 | 2100| 97 | 287 | 172 | 7 |[M8x25| 35 0.70
48'x 80 | 20 | 25 | 33 | 41 | 2240 97 | 269 | 161 | 7 |[M8x25| 35 0.80
50x 80 | 20 | 25 | 33 | 41 | 2330| 97 | 258 | 161 | 7 |[M8x25| 35 0.76
55x 85 | 20 | 25 | 33 | 41 | 2930 | 110 | 268 | 174 | 8 |[M8x 25| 35 0.83
60x 90 | 20 | 25 | 33 | 41 | 3200| 110 | 246 | 164 | 8 |[M8x25| 35 0.88
65x 95 | 20 | 25 | 33 | 41 | 3900 | 125 | 281 175 | 9 IM8x25| 35 0.95
70x 110 | 24 | 30 | 40 | 50 | 5970 | 178 | 281 179 | 8 IM10x 30| 69 1.77
75 x 115 24 30 40 50 6400 178 262 171 8 |M10 x 30 69 1.86
80x120 | 24 | 30 | 40 | 50 | 6830 | 178 | 246 | 164 | 8 [M10x 30| 69 1.98
85x 125 | 24 | 30 | 40 | 50 | 8160 | 200 | 261 177 | 9 [M10x 30| 69 2.07
90 x 130 | 24 | 30 | 40 | 50 | 8600 | 200 | 246 | 170 | 9 |[M10x 30| 69 217
95 x 135 | 24 | 30 | 40 | 50 |10100| 220 | 259 | 182 |10|M10x 30| 69 2.28
100 x 145 | 26 | 32 | 44 | 56 |12700| 265 | 270 | 186 | 8 |M12 x 30| 120 3.13

X VI Y VT A4 R BRWEEDHEDERZEIF0.02mm~0.04mm

EVN 116



